
Multiply and Divide by 10⁻³ (C)Find each product or quotient.
94 × 10⁻³ = 97 : 10⁻³ =
55 : 10⁻³ = 51 : 10⁻³ =
60 × 10⁻³ = 88 : 10⁻³ =
98 : 10⁻³ = 45 : 10⁻³ =
29 × 10⁻³ = 97 × 10⁻³ =
38 : 10⁻³ = 74 × 10⁻³ =
36 × 10⁻³ = 3 : 10⁻³ =
8 : 10⁻³ = 66 : 10⁻³ =
83 × 10⁻³ = 59 : 10⁻³ =
59 : 10⁻³ = 99 : 10⁻³ =
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Multiply and Divide by 10⁻³ (C) AnswersFind each product or quotient.
94 × 10⁻³ = 0,094 97 : 10⁻³ = 97.000
55 : 10⁻³ = 55.000 51 : 10⁻³ = 51.000
60 × 10⁻³ = 0,06 88 : 10⁻³ = 88.000
98 : 10⁻³ = 98.000 45 : 10⁻³ = 45.000
29 × 10⁻³ = 0,029 97 × 10⁻³ = 0,097
38 : 10⁻³ = 38.000 74 × 10⁻³ = 0,074
36 × 10⁻³ = 0,036 3 : 10⁻³ = 3.000
8 : 10⁻³ = 8.000 66 : 10⁻³ = 66.000
83 × 10⁻³ = 0,083 59 : 10⁻³ = 59.000
59 : 10⁻³ = 59.000 99 : 10⁻³ = 99.000
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